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Instructions

® Use black ink or ball-point pen.

® Fill in the boxes at the top of this page with your name,
centre number and candidate number.

® Answer all questions.

® Answer the questions in the spaces provided

— there may be more space than you need.
® Calculators must not be used.

Information

® The total mark for this paper is 100

® The marks for each question are shown in brackets
— use this as a guide as to how much time to spend on each question.

® Questions labelled with an asterisk (¥) are ones where the quality of your
written communication will be assessed.

Advice

® Read each question carefully before you start to answer it.
® Keep an eye on the time.

® Try to answer every question.

® Check your answers if you have time at the end.
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1. Simplify fully 6x* +x=1
s dog* = 1

(396— i)(l}/l)
(il/oﬁa)(’)_:)c,— )

= LoC- |
ey~ |

\f
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2. The diagram below shows a 6-sided shape.
All the corners are right angles.
All the measurements are given in centimetres.

Diagram NOT
accurately drawn

2y+1

JJ

The area of the shape is 95cm?,
(a) Shewthat 292+ 6y—95=0
5\3 + b[’l\g‘H) = 9%
== B+ A4 o B F &7
= ‘1\3”+ byy- 95 = o
3
(b) Solve the equation
22 + 6y —05 =0

Give your solutions correct to 3 significant figures.

—'btJbl‘q’ﬁC B —6':WJW‘§3
A A 1(1)
555 o -8-55 (3s-F ).

Y =
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3. Simplify fully L—8xt15  _ (?9/45)(3" 3) x- 3

e (20¢ + 3)(34//5) © 2o+ 3

(Total 3 marks)
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4. (a) Rearrange this equation

4-3x
x+2 x-1
togive 3xX*+7x—13=0
N-eB A - < =S od =
— [ 2

b e

\i

V

(x-f— 2)( 4 - 3:)(,)

B~ 5

- 3N* + ® - 6 2
= 2o +F-173

= &

(b) Solve 3x*+7x—-13=0

correct to 2 decimal places.

3)

L =

= s '*_'_J bt-trac

A a

- EJ 7 -w 5N
2(3)

-~ -71] 205

. 19 o =%-55 (idf’)
G
le‘ll .............. orx= -—355
3)
(Total 6 marks)
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5. (a) Expand and simplify(x + 3)(x — 2)

o Y A+ VoL —
= ot + X -~ §

2)

(b) Factorise ok s 18

(o¢ + 58) 2+ 2)

(¢ +5)(2e+ 2)

(2)
(€) x=3y+4z-y)
Find the value of x wheny =6andz =5
= 3(b)+w(B5-¢)
= 18 +ud (o)
2, l(__\/
x=LEb
3

(Total 7 marks)
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6. (a) Factorise x2—7x+ 10

(96 - 5) (2 - 2 )

(b) Solve 2=zt 10=0 = x -5

2)

<2

cj{"jé“j\:o

:—...-—) o = 5 me DL T
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7. (a) Simplify 4a+3c—-2a+c

A& + U4
(D
(b) L
2
Find the value of § whenr=3anda=%
~ il L
3= 4 (4)(%)
— ___'__ = j___ - _'_. {
= % € = = [ 2 oc (15
s=. o LAs
(2)
(c) Factorise x*—5x
(X -5 )
(2)

(d) Expand and simplify (x+3)(x+4

2y Yo @2+ 1Y

o+ Fx + 12

(e) Factorise )+ 8y + 15

(Total 9 marks)
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8 (a) Simplify (c? &)

)" (k)" o ke

= ol g o 0% R (1)
(b) Expand and simplify ~ (3x + 5)(4x — 1)

1117'_ Locd WO~ 5

12 *+(3F2¢- 5

2
(¢) Solve x*-3x-10=0
=> (2+ 2)(x - 5)so
= A+ = O
Bt A R
ar -5 =
(Total 6 marks)

=y 2.z =9 or By
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9 The plan below shows a large rectangle of length (2c + 6) m and width x m.

A smaller rectangle of length x m and width 3 m is cut out and removed.

I+ 6
Diagram NOT
accurately drawn
x f
|
= X =
The area of the shape that is left is 100 m2.
(a) Show that 2x2+3x-100=0
1(2964—6) - 3 = oo
= 22X+ 62X - 3 - (0O = O

=% 21L+ FxX = O = O

3)

(b) Calculate the length of the smaller rectangle.
Give your answer correct to 3 significant figures.

5¢ = - bt Jb2- dac

-3+ [2-ul2)(- 12
L&, | ’,L(l)

= = AR, B9 - (.3} of -+ &6
L+.
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